EARAROBEEIERT — 2 N— IBISH —F

2015558198 (K) 4EEHEH

m 5ULhVEEER B1 ¥5R—fg [l w | eEeEl - |5 @) oo AR
[A&4] 1 %:280,00 M ~ 23#%&:50,000M” ~ 3#%&:20,000H  4#%:14000H / 5&%:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . E) EBERL - — ABED (BEE)
1 9 ELoZ b= 4 5 o ?7_.? 1-1 35.1 3 (4_677) Ao
LY IINIF— B:Rky bz =lB4kis
o - AR HiZE = = BREX (BHE)
5 6 FILT AT # 5 AM%% (1481./22) 6-4 34.7 2 (5+115) ]
R:22-U>i0-X B:HLF1 T4 FA Ak
R > KA - — SEEe (BEEB)
318/9|* e WAV R T 56.0 = (2481'/72) 3 %6 ° ?_Ef) HEHEER
R:F1—T2h4 B:XIeOVavt— INREUS
= 0,5 ft 3 | RBEEZ 48.9 3-2 35.9| — 10 | 411 | EEHEE (ER)
4\7|8| 77y INF2 54.0 (1 1/2) s | @ +7 124577
R:29)—>kb—A—- B:Y-FH-byT5> Wi A
NS EHEES . - . — NS (BHE)
5/5|5 FEHE YT "3 56.0 4(%)1 108 8.0 ! :633) /JUH‘?;%
a7y BAN/FhFv [ELAEEAIES
° 5 FLILE— . — . = wOFEE (BHE)
e 7UERLY - I e o | %8 P | e
RHIRT4TTZ BTUELA L ey ¢
N FPITE = — FERME (BHE)
7 3| UrxR 5 oa 4?1.)6 7-9 36.0 1 (4_615) @ﬁﬁa
FFHRFFLT BT A %27 BEZ %Y K
. # 6 | WTHZ 49.6 8-10 36.0| — 8 431 | UER (S54R)
gl7|7| ¥ b1 — #53.0 (74%) o | @ K257
L:xrinMo— B:xv>717723 SHBS
N FLEFRERR . = . — HFLE— (BHE)
9l |TA2>T)y5— 75 (479& =7 %0 ! (4_547) TLEFA
L:4>F4aAv K B:a-4L h7—F pigukse]
. = o SHEKX . — . - SiEEy (BHE)
10/ 8110 945 —a i d 5.0 é?/47) = %.4 6 ?_O; SREZE
L:tr/n7aqd BiN-42Z L4~ IS
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 2,1,8,9,10,6,3,7,4,5
40—F— 2,8,9,6,10,4,1,5,3,7
[ /N
B 2 480M 74K 2-6 360 B 2-6 960 JEE 2-6-9 1,420H
B B 2 170 2-9 570M B = 2-6 690M JEE 2-6-9 7,920
6 180H4 6-9 500M B H 2-6 1,600
9 270M

ABICOVWTRDTEEERROODE. TR LIV,




